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QUESTION 1

You are hired at an ISP and your new employer asks you to become familiar with the routing policy. The 42 +.*[21112]$
regular expression is in one of the policies. Which three AS paths match the regex statement? (Choose three.)

A. 424242426
B. 4242422721
C.4242424212
D. 4269 2112 112
E. 42 69 212112

Correct Answer: BCE

QUESTION 2

Click the Exhibit button.

ISP A
AS 65501

e -I'.
g

ISPB
AS 65502

ISPC
AS 65503

You work for ISP A. Customers of both ISP B and ISP C must be able to reach all of your customers, but your network
must not allow transit traffic between ISP B and ISP C. Referring to the exhibit, which two methods could you use?
(Choose two.)
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A. Use local preference to prefer the proper routes.
B. Use the well-known no-transit community.

C. Use policy to filter routes on AS number.

D. Use communities to identify and filter routes.

Correct Answer: CD

QUESTION 3

Refer to the exhibit.

[edit protocols isis]

user@router# show

interface so-0/0/0.0 {
level 2 disable;

}

interface fe-100.0;

interface fe-20/0.0 {

passive,

You have implemented the IS-IS configuration shown in the exhibit. Which two statements are true? (Choose two.)
A. An IS-IS adjacency can establish on the fe-2/1/0.0 interface.

B. The SONET interface configuration allows the sharing of only Level 2 routes.

C. The fe-1/0/0.0 interface configuration allows sharing of Level 1 and Level 2 routes.

D. The fe-2/0/0.0 interface configuration allows advertising of its IP address into the LSPs.

Correct Answer: CD

QUESTION 4

Click the Exhibit button.
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userfriuter> monitor traffic detail interface so=-1/1/0 =ize 1514
Listening on so=07/1/0
11:55:48. 470418 In T8TE(186), 30:30:30:30:30:30 > 30:30:30:30:30:30, hlen: 27; w: 1,
aya-id-len: & (0}, meax-wrea: 3 (0}, LZ L3P
lsg-1cd: 1921.6804.8001.00-00, seq: 0x00000008, lifetime: 1185a
chisum: Ox86e® (sorrect), PDU length: 1Bs6, LILE IS
Arza address(sz) TLIV #Ll, length: 4
Area addreas (3): 49.0001
Pratocaola supported TLV #1293, length: 2
NLEID(=2): IPvd, IEvE
rezftic Bnginsering Router 1o 1LV #134, lengch: 4
Traftfic Engineering Router ID: 132.168.43.1
IFvd Interface addressies) TLV #13E, length: o
IPvi: interface address: 192.168.48.1
Hostname TLV #137, length: @
Hostname: HaocFPaulao
ITPvwd Internal reschability TLV #128, length: 24
IPv4 pretix: 1%, 1eH.4H.1/82
Default Metric: 00, Internal, Diatribution: up
IPvd prefix: 10.222.60.0/24
Default Metric: 10, Internal, Distribution: up
Extended IPvdé reachability TLV #1135, length: 17
Iowd prefix: 1592.169.48.1/32
Metric: 0, Distribution: wg, no sub-TLV= present
ITPwd prefix: 10.ZZ2.60.0/24
Metrig: 10, Distributicn: up, ho sub-[FLVs presentc
IPvd External reachability TLYV #130, length: 1Z
IPwd prefix: 192.168.45.0/24
pefault Metric: 00, Internsl, Discribution: up
Extended IPv4 reachsbility TLV #135, Length: 3
IPvY prefix: 192.163,49.0/24
Metric: 0, Distribution: up, no sub-TLV= present
I3 Reachabhility TLV #2, length: 12
LaNotVirtual
IPvd prefix: 192.168.49.0/24
Default Metric: 00, Internal, Distribution: up
Bxtended IFv4 reachabilicy TLW #1135, length: E
IPvil prefix: 192,1€8.49.0/24
Metric: 0, Diatribution: up, no aub-TLVs pressnt
I3 Reachabilicy TLV #Z, length: 12
IsHotVictusl
I3 Meighhor: LSZ1.6805.2001.00, Default Metric: 10, Intscnal
Extended I8 Reschability TLV #ZZ, length: Z3
I3 Neighbor: LS9Z1.6B05,Z001.00, Metric: 10, sub-TLV= present (LE)
IPvd interfece asddresa; 10.2Z22.60.%2
IPv4 neighbor address: 10.Z22.60.1
Authentication TLYV #10, length: 17
HMAC-MDS passworcd: O0bLIZTA571Z2bceanl03elloeZ333077

The output in the exhibit was captured on an interface. Which three statements are true about the configuration on the
router with hostname SaoPaulo? (Choose three.)

A. Wide metrics is not in use.
B. The router has the overload bit set to "on".

C. Authentication is enabled.

D. System ID is 1921.6805.2001.
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E. Level 2 routing is enabled.

Correct Answer: ACE

QUESTION 5

Which two statements regarding OSPFv2 or OSPFv3 authentication are correct? (Choose two.)
A. OSPFv2 supports MD5 authentication.

B. OSPFv2 supports MD5 or SHA authentication.

C. OSPFV2 relies on the native security stack that uses IPsec.

D. OSPFv3 relies on the native security stack that uses IPsec.

Correct Answer: D
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